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Candidate will themself be responsible for filling wrong 
Roll No. 

2. At the start of the examination before attempting the 
question paper kindly check your test booklet and OMR 
Answer Sheet and ensure that · 
The serial numbers of test booklet and OMR answer sheet 
are same. 
All pages of test booklet and OMR answer sheet are 
properly printed. All questions from S.No. 1 to last S.No. 
100 are printed and pages from S.No. 1 to lastS. No. 16 
are there in the question booklet. 

In case of any discrepancy I defect the candidate should 
immediately report the matter to the invigilator for replacement 
of test booklet and OMR answer sheet. No claim I objection 
in this regard will be entertained after five minutes of start of 
examination. Candidate will be liable for it. 
3. Answer all questions. 
4. All questions car;y equal marks. 
5. Only one answer is to be given for each question. 
6. If more than one answers are marked, it would be treated · 

as wrong answer. 
7. Each question has four alternative responses marked 

serially as (A), (B), (C), (D). You have to darken only one 
circle or bubble indicating the correct answer on the Answer 

Sheet using BLUE BALL POINT PEN. 

8. 1/3 part of the mark(s) of each question will be deducted 
for each wrong answer. (A wrong answer means an 
incorrect al'lswer or more than one answers for any 
question). 

9. Use of Mobile Phone/Biuetooth Devices or any other 
electronic gadget in the examination hall is strictly 
prohibited. If any such prohibited material found with any 
candidate, strict action will be taken against him/her as 
per rule. 

10. If there is any sort of ambiguity/mistake either of printing 
or factual nature in Hindi and English Version of the 
question, the English Version will be treated as standard. 

Warning : If a candidate is found copying or if any unauthorized 
material is found in his/her possession, F.I.R. would be lodged 
against him/her in the Police Station and he/she would liable 
to be prosecuted under Section 3 of the State Preve.1tion of 
Unfair means Act, 1992 and Board Regulations. Board may 
also debar. him/her permanently from all future examination of 
the Board. 
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Which of the following statements is not 4 
correct about Rajasthan Refinery, 
Pachpadra? 
(A) It is a joint venture of HPCL and 

Government of Rajasthan. 
(B) HPCL's share in it is 80 percent and 

Rajasthan's share is 20 percent. 
(C) Its project cost is Rs. 43,129 crore. 
(D) It is first of its kind project in India 

in which refinery is integrated in the 
petrochemical complex. 

� ftlbl�"'fl, 4ifYiHI t � -q � -q -a 5 
c6A" m co� � ;:rtf � ? 
(A) � qi�c?l«le&� o� � mm qjf � 

��I 
(B) � qifci'm"lq(if qrr fumr 80 IDa�Rf o� 

� QIT fumr 20 IDa�TO � I 

cc) � qftt�11\l1'11 "(ifl1"R'f 43,129 � m 
�I 

(D) � ��T c6T � � qftq)\1111 � � 
ft lbl �1 fl Cf q ?J Co�Cb(if Cb I� Cffi QIT m-.IJ!UT 
�I 

What is the duration of XII Five Year Plan 
in Raj as than ? 6 

"D\111:m-l -q XII cjifq�q � c6t B'itllqfu ? 
(A) 2012-2017 (B) 2007-2012 
(C) 2002-2007 (D) 2017-2022 

Which of the following is considered a 
form of land reform ? 7 

(A) Mechaniz�tion 
(B) Use of high yielding variety of seeds 
(C) Land Ceiling 
(D) Agricultural credit 

� -q -a � � �� qrr � lfAl \1fTCIT t ? 

(A) ti??tco <o1 
(B)��� qffi �COT� 

(C) "t-� c6T � qrr � 

(D)� W9 

39] + 2 

The most important constraint for the 
growth of large scale industries in 
Rajasthan is -
(A) Lack and uncertainty of power supply 
(B) Lack of entrepreneurship 
(C) Lack of transport facilities 
(D) Lack of capital 
� t � � c6T "Wi� -q -wro- 'i�{(:l'{UJ 
mmt-
(A) fcrgo � c6T cpft � �"ifflCil 
(B) 13i!Oifl:rat qrr &mq 
(C) qftq�"' �m.m qrr &mq 
(D) � qrr 0NTCf 

Under which programme in Rajasthan, 
the services of a village educated youth or 
an NGO are used for intensive cattle 
breeding ? 
(A) Kamdhenu 
(B) Gopal 
(C) Artif1cial Insemination Programme 
(D) Krishna 
� -q � � t � Tifq t �lfucr 
¥1 i3l� 1h" mCbTfr � ctT �· 'W1' q� 
(1ft) � t � � c6T 'lffifr %' ? 
(A) �$t 
(B)� 
(C) � TNTtrA col4s:t>'i 
(D) cpnrr 
From which part of Raj as than the 
'Ajrak Print' is a famous form of print ? 
(A) Udaipur (B) Bhilwara 
(C) Barmer (D) Sanganer 
.�t� rt�TCOT ·�fiR:'��? 
(A) � (B) 'lfl(ifqp?l 
(C) � (D) tWTffi 
Which of the following is not related to 
Green Revolution in Rajasthan ? 
(A) Increased use of HYV seeds 
(B) Decreased use of fertilizers and 

insecticides 
(C) Increase in the number of Cooperative 

Credit facilities 
(D) Increase in Gross Cropped Area 
�-q-a��.c6Tmta'��� 
-;fflT t ? 
(A) HYV�qrr�� 

. (B) � -qct -rtrc:•mm qrr � cg;:rr 

(C) e�thi fl "3[1lT �m.m COT � 
(D) � ·� � COT� 

(P.T.O. 
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Rajasthan is the only state to provide the 10 
facility of a free citizen e-mail service, 
which allows the users to create their 
e-mail address in regional languages 
including Hindi, with the name of -
(A) Raj free mail 
{B) Raj regional mail 
(C) e-mail Raj 
(D) Raj mail 

� ���%"��:�� 
t-���� t ���m 
"Cl"ffi \)f(Rf t-� Wr �TC6 'qf(:ffiffi � � 

.Ti��t�W-Jmq;)��­
(A) � f.i:� � (Raj free mail) 
(B) � �TC6 � (Raj regional mail) 
(C) t-� � (e-mail Raj) 
(D) � � {Raj mail) 

Which of the following statements is not 
correct about RUDA ? 
(A) It was established in November 1995. 
(B) It promotes non-farm sector in urban 

areas of the state. 
(C) It carries out its activities in 3 major 

sub sectors - leather, wool and minor 
minerals. 

(D) It has obtained geographical 
indication registration for crafts, like 
Blue Pottery, Kota Doria and 
Sanganer & Bagru hand block print 
under its intellectual property rights 
initiatives. 

� Ti � � m C6� (0;61 t m Ti � � 
t ? 
(A) � � � 1995 Tf :rt I 
(B) � rt�T t �mT � Tf fiT-� � q;) 

�w%1 

11 

12 

(C) � � 13-.::r � - �. � cr� ·� 13 
� t �����l�d 
"f.I)\CIT %" I 

\ 

(D) � � �. ctiTlT s)fttrr crm � cr 
� � � � � �� cnmiffi t 
��"e'�� t mcr  
�li'tRrtct> � q�Cf) (01 . � C6\ � %"I 

39] + 3 

Which of the following cities are selected 
in Rajasthan to be developed as smart 
cities ? 
(A) Jaipur, Jodhpur, Kota and Bikaner 

(B) Jaipur, Udaipur, Kota and Ajmer 
(C) Jaipur, Jodhpur, Ajmer and Kota 
(D) Udaipur, Kota, Jodhpur and Ajmer 

� -q� � �ml q;) �-q� ft:R:T t  
� .q: � ct>Ria m t � "9::T T(<:IT t ? 
(A) �. \ill�, ctiTlT cr� � 
(B) �. �. ctiTlT cr� � 
(C) �. \ill�, � cr� co1GT 
(D) �. ctillr, \ill� cr� � 
To provide assistance to small scale 
industries, Rajasthan Small Industries 
Corporation Ltd. (RAJSICO) was 
established in the year -
��cer � t � � �m 
Cfiltitt�R � (RAJSICO) c#r � Cl1f 
_ .q::rt� 
(A) 1955 
{C) 1965 

(B) 1975 
(D) 196 1  

Jaipur Metro Rail Project is funded by 
(A) World Bank 
(B) Swiss Development Authority 
(C) Asian Development Bank 
(D) Japanese Government . 
� � :rn � COT fcffi � � Tf<:IT %" 
(A} ��CJ � &TU 
(B) ftcR:T fcJct>m � &TU 
(C) �l'R fcJct>m � &m 
(D) � mct>IT &m 

Rajasthan Tenancy Act was brought into 
force from which year ? 
�COT���� qtf � 
si31£ � ? 
(A) 1955 
(C) 1952 

(B) 1959 
(D) 1949 

[ P.T.O. 
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14 What was the total number of Post Offices 18 
in Rajasthan in the year 2017 ? 

How many five year and annual plans have 
been implemented in Rajasthan so far ? 

15 

16 

�if crt 2017 if 3ffi � tn.l ctt � 
�m ? 
(A) 7011 
(C) 5055 

(B) 15022 
(D) 10311 

Which of the following sources supply the 
highest energy to Rajasthan ? 

(A) Wind (B) Solar 

(C) Thermal (D) Hydel 

�em·� if�� -ma � �-� 
�m-ar� ? 
(A) -qq.r 

(C) � 

(B) � � 
(D) 'Sffi � 

Gross state domestic product at constant 
prices (2011- 12) of Rajasthan in 2017- 18 
was 

(A) Rs. 64 1940 crore 

(B) Rs. 840263 crore 

(C) Rs. 761460 crore 
(D) Rs. 100551 crore 

2017-18 if� Cf)f ftm: � (2011- 12) 
l:fT W5R � -� � m 
(A) 64 1940$ <>. 

(B) 840263 $ <>. 

(C) 76 1460 $ <>. 

(D) 100551 $ <>. 

17 How many villages were electrified during 
20 16- 1 7 under Deen Dayal Upadhyay 
Gramin Jyoti Yojna ? 
cfH � q I 1:'1 i3"lffum:T lJllfrur � � � 
i3R'flffi 2016- 17 if fcmA ml1T Cf)f 11tg&1q) (01 m­
T[<:IT m? 
(A) 346 
(C) 108 

39] + 

(B) 525 
(D) 26 1 

4 

(A) 12 five year plans 

�--(B) 12 five years and 6 annual plans 

{C) 12 five years and 3 annual plans 

_ _  {D) 12 five years and one annual plan 

� if iW( w.n � cjqq�q "(fCt � 
4l\l111 ct ffi1i ctt \iff � %' ? 

· (A) 12 ciilCJtfiq 4l\l111ct 
JB) 12 cii!Citftq i3frr 6 � 4lii111ct 

(C) 12 tiilCJ�q i3frr 3 � 4lii111ct 

- (D) 12 tiilqtfiq i3frr � � � 

19 'How many PPP projects were completed 
in Rajasthan up to December 2017 ? 

·� if� 2017 CfCfi" � BlcfiJ'I�q) 
··� €1���{) (PPP) &m Bil1MC1 41l:4'1ii111ct 

_:;:·-rrr m- lT{ m ? 
--{A} 276 
(C) 534 

(B) 153 
(D) 840 

20- ·As per announcement made in Budget of 
, Rajasthan for 2018-19, a mini plant for 
-'processing of camel milk will be set up at 

-(A) Bikaner 

(B) Jaipur 

(C) Jodhpur 

(D) Barmer 

2018- 19 ifl � ifl �if ctt lT{ � t ­
� -� ifJ �� ifl !JIB«f>(OI t fuq flAt 
��M� 
(A) �q��� < if 
(B)� if 
(C) \l'll� if 
(D) �if 

·[P.T.O. 
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In an examination the minimum passing 24 
marks for a student were 36%. He got 28% 
marks and declared fail by 6 marks, what 
were the maximum marks ? 
� fcrm� col �  wm 1f � �,-�-� 
36% � -� m � 1 � 28% i3R:ff '� 
� crm 6 � � � mm_ q){ �"�, 
"ffi � mTr­
(A) 50 
(C) 70 

(B) 75 
(D) 80 

Next term in the series 1, 8, 4, 27, 9,.L:__ 
IS 

� 1, 8, 4, 27, 9, __ 1)' iWWIT � t -
(A) 49 (B) 36 
(C) 64 (D) 125 

Question : 
Who is the best salesman in the company? 
Statements : 
(I) Ram sold maximum numb;er of 

refrigerators in this summer. 
(II) The company made the highest profit 

this year. 
Choose the correct one -
(A) Statement (I) is sufficient to answer 

the question. 
(B) Statement (II) is sufficient to ariswer 25 the question. 
(C) Both statements (I) and (II) are 

necessary to answer the question. 
(D) Both the statements (I) and (II) are 

not sufficient to answer the question. 
��';{ : � 1)' Cht.l � � �-�-- ? 
<fi� : (I) � 7J'lff -q· ""Olf � � - --� 

{Sfi\\ii{�< � � I 
(II) � � � � � � (ifN coqrm t I 
?1{; -qjJ "f["lFf ?lifr -
(A) ��';{ in � in � co� (I) 'tt � t I 
(B) ��Of in � in � �� (II) 'tt � t I 
(C) ��Of in� in�� co� (I) crm (II) 

� � I -
(D) ��Of in � in � � Cf)� (I) crm (II) 

��� 
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A statement IS followed by two 
assumptions numbered I and Il. Consider 
the statement and decide which of the 
given assumption is implicit ? 

Statement: 

Every body loves playing cricket. 
Assumptions-: I. Cricket is the only game. 
II. Nobody loves playing any other game. 
(A) Only assumption I is implicit. 
(B) Only assumption II is implicit. 
(C) Both assumptions! and Il are implicit. 
(D) Neither assumption I nor II is implicit. 
� Cf)� in \3Wr c::T t{qij'"ll'i I crm II � 1"[1::( 
� 1 Cf)� "tR fc:Rm" q;t crm (fl:f � fco Cb"A 
m t{qij'"ll'1 � t?  
Cfiq;{: �������I 

iCilj'IFI : I. � � � t I 
II. �����m-��Cfi«ff%1 

(A) tCffi t{qij'"ll'1 I Afucr % I  
(B) tCffi t{qij'"ll'i II� t I 
(C) l{qij'"ll'i I crm II � � �I 

(D) Of 'tt l{qijl11'1 T Of 'tt II � %I 

A bus is 50% faster than car then what 
time will the bus take to cover the same 
distance which the car cover in 1 hr. 
30 minutes ? 
(A) 1 hour 
(B) 1 hour 30 minutes 
(C) 2 hour 15 minutes 
(D) 2 hour 30 minutes 
� �. ClliT ctr �m 50% ctm % 1 � � � 
qj) � m -q m:r fcfKRr � -MT � ClliT col 
� m -q 1 'QUZf 3o m W'RIT t ? 
(A) 1 'QUZf 
(B) 1 'QUZf 3om 
(C� 2 'QUZf 15 � 
CD) 2 'QUZf 3om 

[P.T.O. 
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Decimal form of the rational number .!.. 
is -

� . 1 
� � - C6T 'G:�llffiCf � --

7 
(A) 0.7 (B) 0.1428 

(C) 0.142857 (D) 0.142857 

7 

A father is three times as old as his son. 
After twelve years, his age will be twice 
as that of his son. The present age of the 
father is 
� ftffir.� �it <iFf TIT���� crtf 
�\3Wtt���c#r�it� 
�1mc6t��� 

(A) 32 years (crtf) (B) 36 years (crtf) 
(C) 40 years (crtf) (D) 48 years (crtf) 

A, B and C separately can do a work in 
10 days, 12 days and 15 days respectively. 
In how many days all three together can 
do the same work ? 
(A) 2 days (B) 4 days 
(C) 6 days (D) 8 days 
A, B om C \3ffill-\3ffill � tti"r1 c6T ��T: 
10 Wtl, 12 fa:ofi om 15 fa:ofi -i( q){ � � I 
cfRT � m� � \nfr tti"r1 c6T fcl;cR � -tr 
Cfi\ � � ? 
(A) 2 itl (B) 4ltl 
(C) 6ltl (D) 8ltl 

30 

31  

32 

What least natural number must be added 33 
to 2010 to obtain a number which is 
completely divisible by 19 ? 
2010 -q r§rtr it mtr � � -msm \ifWt 
�fcn�-msm 19it��m? 
(A) 3 (B) 4 
(C) 5 (D) 6 

39] + 6 

If p1 and p2 are two odd prime numbers 

such that p1 > p2 then pf - p� is-

(A) an even numbers 
(B) an odd numbers 
(C) an odd prime numbers 
(D) a prime numbers 
� P1 om P2 Gl � �·� � w.f)'R 

. 2 2 
� fc6 PI > P2 � PI - P2 � -

(A) � �� 

(B) � �� 

(C) � ��-msm 

(D) � � -msm 

What is the unit digit in the product 

365 X 659 X 771 is 

365 X 659 X 7 71 t �01'14)(11 "i( � C6T 

3tco � -

(A) 1 (B) 2 
(C) 4 (D) 6 

The largest 4-digit natural number exactly 
divisible by 7 and 11 is -
4 am� m � � -msm \ill 7 om 11 

it�: �m. �-

(A) 9996 (B) 9999 
(C) 9933 (D) 9911 

The three numbers are in ratio 3:2:5 and 
sum of their squares is 1862, then what 
will be the second number ? 
�<iFf� 3:2:5 t � -tt m .atrr m 
crit C6T � 1862 m, m � -msm � mlfr? 
(A) 7 (B) 14 
(C) 21 (D) 35 

[P.T.O. 
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Choose the correct alternative from the 37 
following options as given below for the 
Assertion (A) and Reason (R) given in the 
question. 

Assertion (A) : 

Graphite is a conductor of electric current. 
Reason (R) : 

Graphite has free electrons. 
(A) Both A and R are true and R is the 

correct explanation of A. 
(B) Both A and R are true and R is not 

the correct explanation of A. 
(C) A is true but R is false. 
(D) A is false but R is true. 
� � ];[�o:r -q ¥,-co� (A) crm CfiROT (R) t 
� � fuq � � -q � trfr � C6T 
�Cf>�l 
� Cfiq-;f (A) : 

� �mu C6T � �illctCb �� 
CfiiTUT (R) : 

� -q � �tTlCR;1'1 � il 
(A) ciRT A <fm R � i crm R, A ctT cmd�Cb 

� tl 
(B) zy:j1 A <fm R � i <fm R, A c6T <mdfe!Cb 

� 1'tf �I 
(C) A��crmR � �I 
(D) A � t <fm R � � 1 

Find the odd one out. 
��-
(A) C72X 
(C) Gl40T 

(B) EllOV 
(D) J180R 

38 

36 The remainder when 231 is divided by 
5 is -

231 col 5 � 'qTTf � 'q\ � �� � -
(A) 1 (B) 2 
(C) 3 (D) 4 

39] + 7 

The following pie chart represent the 
marks obtained by a student in five 
different subjects. If the total maximum 
marks of all the subjects is 720 then how 
much more percent of marks is obtained 
by the student in total of Social Science, 
Hindi and English than the remaining two 
subjects ? 
f.tkiiflifsla -ql{ qrt � fcrm� am � � 
� -q' � col �Rr "CbTIIT t I � �� 
� t �. � 720 � aq fcrm� &m 
(11"11Ri1Cb -FcmR, � crm � -q � � 
� �� � � � fcncR ];[fu�m � � ? 

(A) 5% 

(C) 20% 

(B) 5 �% 
9 

(D) 40% 

The sum and product of two natural 
numbers are 12 and 35 respectively. The 
reciprocal of sum of their reciprocal is 
� � �3l)' C6T � Cf �01'1lflcl ��T: 

12 � 35 � I � � t � C6T � 
�-

12 
(A) 35 

17 (C) 35 

35 
(B) 12 

35 
(D) 17 

[P.T.O. 

... 
._ 



I . 

39 The hours hand and minutes hand of a 
clock are 4 em and 6 em long respectively. 
Then the ratio of distances travelled by tip 
ofno!Jrs hand in 2 days and tip of minutes 
han_d :;in 3 days is -
� � ctT � qffiT om ftr:R: qffiT � rtt 
W�__l{tli Fr�T: 4 � om 6 �· %", cfr 2 � 
if tft qffiT � ctT � am � Tf{ � om 
3 �if m qffiT m ctT �am�� 
q;r �·t-
(A) 1:9 
(C) 2:3 

(B) 1:27 
(D) 1:12 

40 An�wer the question on the basis of the 
following table : 

Percentage of Results in five subjects of 
four schools 

School Hindi English Physics Chemistry Mathematics 
A 
B 
c 
D 

62, 57 43 75 62 
S8 64 72 44 59 
47 .• 71 55 63 41 
70 46 66 57 73 

W�ich subject has shown highest 
per-eentage of result when all the schools 
an!'taken into consideration ? 
(A) tlindi 
(C) Physics 

(B) English 
(D) Chemistry 

f.iljR<t_fuld � � ®'mr 11{ 1J�� q;r � 
�···: 

Tm 14tu�JO(i � � � if � � "Sifa!lm 

� it-..fr 3llJ'i\T � ""(m<:l"f�msf � 
A 62 57 43 75 62 
B 58 64 72 44 59 
c 47 71 55 63 41 
D 70 46 66 57 73 

�-m � � � � ��lcf "chl c::�mn 

t � � �{I((Tf<:i1 qi1 UiR -q \@I 11m t ? 
(A)� (B)� 
(C) � (D) \mtA�lR?r 

39] + 

41 

42 

43 

44 

45 

46 

8 

During 1890's era who were the Jagirdars 
of Bijoliya ? 
(A) Chauhans (B) Paramaras 
(C) Ranawats (D) Shaktawats 
1890 � crrr if �ll1iRiar �· \l'tll�(�l{ � � ? 

(A)� (B)� 
(C) � (D) �T<ffiTCffi 
The Battle of Giri Sumel was fought in 

fiTft Wffi Cffi" � __ il' � 11m m 1 
(A) 1539 (B) 1542 
(C) 1544 (D) 1546 
In which of the following city, 'Paropkarini 
Sabha' was established in 1883 ? 
(A) Ajmer (B) Alwar 
(C) Bharatpur (D) Udaipur 
1883 if Akl if B � �mil 'q frqcfilftu� tr'm' 
ctl � s{? 
(A)� 
(C)� 

(B)� 
(D)� 

Which one of the following dynasty did 
not originate from the fire altar ? 
(A) Pannaras (B) Sisodias 
(C) Chauhan (D) Chalukya 
Akl if B � "€r ct�T ctT 'ffifu � B -.m= 
rt? 
(A)� 
(C)� 

(B) Rlf1lful:ll 
(D)� 

Fort of Gagron is situated in which of the 
following district ? 
(A) Jhalawad (B) Ajmer 
(C) Udaipur (D) Kota 
l"f11liFf Cb1 � Akl if i1 ftoB � if � t ? 
(A) $li�ICII9 (B) � 
(C)� (D)� 

Chotara, Kamayacha are a part of which 
folk instrument tradition ? 
(A) Aerophonic In�truments 
(B) Stringed Instrument 
(C) Membranous Percussive Instruments 
(D) Percussive Instruments (Non-

Membranous) 
rlffim, �iff -cnt.=r U MlCfiClltl l:fttrn "€f ¥. 
�? 
(A)� qro 
(C)� qro 

(B) C1c! qro 
(D) cr;; qro 

[P.T.O. 
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47 

48 

49 

50 

Which of the following place was not one 51 
· of the Panchpane Thikanas of Shekhawati 

during 1920's Peasant Movement·? 
(A) Dundlod (B) Malsisar 
(C) Mandawa (D) Shrimadhopur 
f.r:o:f -q \t �-m � 1920 t � -3lt<G't('1'11. 
t � �1<sM ttl t � fucnr;ff -q \t � ;;tf 
m ? 
(A)� 
(C) � 

(B) '"l{'lelfl < 
(D)� 

Who amongst the following led the 
Swadeshi Movement in Mewar, 
Dungarpur, Sirohi, Banswara ? 
(A) Damodar Das Rathi 
(B) Arjun Lal Sethi 
(C) Swami Govind Giri 

52 

(D) Jamna Lal Bajaj 53 
�� �� ft:rntl, qj("lcW51 -q ��l'r � 

q)f � f.r:.:f -q \t � frw;rr m ? 
(A) cU'i'li:;(�t("l W 
(B) -31'1'1('11('1 � 
(C) M � flrft 
(D) '51'"!'11('11{1 � 

Which of the following historian considers 
the Rajputs to be descendants of Sakas 
and Scythians ? 
(A) Chand Bardai 
(B) C. M. Vaidya 
(C) James Tod 
(D) Gopinath Sharma 
ffi "If \t � �fa(;tfiChl ( � � cffi- �TCfi 
.:31� �- � t ct�Tiif lfRT � ? 
(A) 'ti��H�I{ (B) m. 'Q;l. � 
(C) �irs (D) �� liT'"ll 

54 

Pandit Nenuram Sharma was associated 55 
with the Prajamandal of which of the 
following Riyasat ? 
(A) Kota (B) Alwar 
(C) Jhalawar (D) Jaipur 
� � �T'"ll � -q \t � Wm:rcr t 
l>I'J11'"!06(il \t �.mf � ? 
(A) Cblc:T (B) i3lWR 
(C) $i1('11C419 (D) � 

39] + 9 

Which one of the following. places is 
famous (or 'Patthar Mar' Holi ? 
(A) Ma:h�virji (B) Bharatpur 
(C) Beawar (D) Barmer 
� � \t"'� m � -q-� � t � 
��?_-
(A) '"l(;lcfl <*' 
(C)� 

(B)� 
(D)� 

Which saint of Rajasthan composed 
'Satyabhatnaji Nu Rusan' ? 
(A) Ramdasji (B) Dadu Dayalji 
(C) Dariyavji (D) Meerabai 
�t � �mu·�:t�' 
� �c61.··�? 
(A) U'"l�t{i*' 
(C) c;f{4!'=l*' . 

(B) � <:;41('1*' 
(D)� 

From which one of the following site of 
Rajasthan is red terracotta pottery found, 
which is decorated with black Geometric 
designs ? 
(A) Kalibanga (B) Ahar 
(C) Kot Digi (D) Gilund 
�-q-e-�tfqm�\t�� 
cffi- � .'tfmffi 'tf\ q:;ffi triT � WG\ ;;:q I� Rfq; 
�'511�'11i \t � 1J<:rr � ? 
(A) cntt.rf'lq�ll (B) m, 
(C) cW:-� (D) � 
Where are the Temples of Rishabh Dev 
located in Rajasthan ? 
(A) Dungarpur (B) Dhulev 
(C) Ranakpur (D) Kankroli 
�t-qffi � t � �-q� 
�? 
(A)� 
(C) ((O(Cfi�( 

(B)� 
(D) Chich ()Jl 

The ruler of which of the following s�ate 
was made the Rajpramukha of the Ma:tsya 
Sangha in 1948 ? 
(A) Bharatpur (B) Karauli 
(C) Dholpur (D) Alwar 
1948 -q fqm � t �lrecn q,t � � q)f 
( 1\il Sl t1)@ � 1J<:rr ? 
(A)� (B)� 
(C) .� (D) 3lWf{ 

[P.T.O. 



56 Which was the first state of Rajasthan to 61 
sign treaties with the British ? 

57 

58 

59 

60 

(A) Alwar (B) Bharatpur 
(C) Kota (D) Bundi 
� "€f W..U m Cffffi "U� COT �erq � 
�.:rm m ? 
(A)� (B)� 
(C) c6R:T {D) � 

Ghudla dance form is related to which of 
the following city of Rajasthan ? 
(A) Bhilwara (B) Jodhpur 
(C) Jaipur (D) Udaipur 
����COT �..U �if "€f � 
i}) fcnu �Tn "?r % ? 
(A) 1fiM<;H91 
(C)� 
Rani Laxmi Kumari Chundawat was 
awarded Padamshri for her contribution 62 
in which field ? 
(A) Politics 
(B) Literary contribution 
(C) Social service 

· (D) Painting 
TAt��� T{llsiClct c5r lRr-311, � fcfiB 
� if <Wre:R t � � 1fqT ? 
(A) {1\li;fJRICb � (B) ����Cb � ()3 
(C) � Wn (D) fi!31CbMI 
Which of the following News Paper was 
published by Vijay Singh Pathik ? 
(A) Alwar Patrika 
(B) Nav Rajasthan 
(C) Naveen Rajasthan 
(D) Rajasthan Kesari 
� � li I'Cl I ( l:f3f COT 1lCf>T�"R �\li 1!01 R=i � -qfuq; IDU 

64 

� lTIQT ? 
(A) � � (B) 'OfCf � 
(C) -.=rc1'A � (D) � ttrfr 
'Dayaldas Ki Khyat' contains the history 
of which State of Rajasthan ? 
(A) Mewar (B) Marwar 
(C) Kota (D) Bikaner 
'�IQIWU� c6T m' if � t fcfiB � qrr 
��%? 
(A)�. 
(C) c6R:T 

(B) lffiCI19. 
(D) if!Cbl� < 

39] + 10 

Which one of the following programme is 
not a "desert development programme" ? 
(A) Arid zone research and development 

programme 
(B) Drought prone area programme 
(C) Combating desertification 
(D) Integrated rural development 

programme 
�"'1�fula Cbl<h1?'11. if "?r cnt.=r m l:{Cb � 
""Wi � Cbl4rcli" t \3Rflfu" 'ltT � ? 
(A) �� �UR � fclcom � 
(B) � �\TTClf � Cfl� 
(C) � "?r 1t& Cbl4rcli 
(D) �lif.:Cla � � � 

The shortest national highway passing 
through Rajasthan is __ 

�if "?r � CffiiiT � r§r?;r � � 
% __ 
(A) NH- 71B 
(C) NH- 11 

(B) NH- 8 
(D) NH -·- 15 

What is the percentage share of areai extent 
of Rajasthan to India's total land area ? 
� qrr � 'qf'@ t � � qrr fc5a-<ff 
ma�m i ? 

(A) 10.45% 
{C) 11.50% 

(B) 9% 
(D) 15% 

Which of the following river fonns Chulia 
waterfall ? 
(A) Chambal river 
(B) Banas river 
(C) Sabarmati river 
(D) Ghagghar river 
� \liM�q1a fcfiB � am q.nm 3 11 i? 

(A)�� 
(B)�� 
(C) �lci!Vld"l � 
(D)�� 

[P.T.O. 



65 Which physiographic division of Rajasthan 70 How many wild life Sanctuaries are found 
is also known as 'bowl of grains' ? in Rajasthan ? 
(A) South Eastern plateau region (A) 33 wild life Sanctuaries 
(B) Aravalli hills region (B) 38 wild life Sanctuaries (C) Eastern plains 
(D) Banas basin (C) 25 wild life Sanctuaries 
� qrr � m � ��T ''� qrr (D) 07 wild life Sanctuaries 
cg)u'' 'Iff � "iifRIT. i ? � lf � lf � � � aii<:!I{Otf 
(A) �����T i? 
(B) � 'lClCf � ��T (A) 33��� (C) ����T 
CD) �m (B) 38 CRr� � 

(C) 25 CRr� � 
.66 Rajasthan state accounts for how much (D) 07 CRr� � 

percentage of total livestock of India ? 
� � c6l 'l1mf � ¥I qw:r.:r -q fcncA" 71 Which of the following is not associated ��m \0114�&1fl i ? with soil erosion problem in Rajasthan ? (A) 9.9% (B) 11.27% 
(C) 18.30% (D) 15.80% (A) Deforestation 

(B) Glacial action 
67 Which one of following district ofPakistan (C) Wind erosion 

is not located on the International boundary 
(D) Water erosion of Rajasthan ? 

(A) Bahawalpur (B) Khairpur f.rl:;:r -q -e- �-m � q)f"{UT �· -q � 
(C) Meerpur (D) Layalpur � -e- K� "'tT i ? 
f.FJ 1l -e- �-m q1fCbta1'1 cor��� .� (A) � CliG'1T c6l -:iHH\r:{l q � tR fum "ftT i ? (B) � finc:rr (A) �����ICllti:J;< (B) Ww 
(C) lfrw (D) itlltlct�g< (C)� � 

68 Malwa plateau is the extension of : 
(D)� � 

(A) Southern Aravali 
(B) Haroti Plateau 72 In Rajasthan, maximum administrative 
(C) Chambal Basin Hills forest areas falls under which of the 
(D) Himalayan extension following categories ? 
lffiifClT qQf{ � � i ? (A) Protected forests 
(A)�� (B) Reserve forests (B)� l:fOf{ (C) Unclassified forests cc) � m q�1�t1i 
(D) �qrr� (D) Restricted forests 

� -q � w.ort � ��� q;r lff;r � 
69 Durgapur Kesar is a known species of � \jfffi i ? 

(A) Datepalm (B) Coriander (A) �CR· 
(C) Cummin seeds (D) Watermelon (B)� CR 
����� i (C) aiCl4��d CR 
(A)� c6l (B) � c6l (D) .. � CR 
(C) � c6l (D)� c6l 

39] + 1 1  [P.T.O. 
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How many districts are included in the 
Aravalli regions of Rajasthan ? 

(A) 10 Districts (B) 12 ))i�tricts 

(C) 09 Districts (D) 08 DI�tricts 

� t � ��T 'if �:·� � fcOcR 
fum Bfai�d � 1fQ; � ? · 

(A) 10 fum (B) 12 �. 

(C) 09 fum (D) 08 �· 

What is altitude of peak Ser ? 

(A) 1,622 meter (B) 1,370 meter 

(C) 1,597 meter (D) 1,602'meter 

m -mtr em � fcoatr � ? 
(A) 1,622 � 
(C) 1,597 � 

(B) 1,3i0·� 
{D) 1,602·� 

75 Isarda irrigation project is:_situated at 

76 

(A) Jhalawar (B) Dungarpur 

(C) Chittorgarh (D) Sawai Madhopur 

� � qf{q'lll1'11 � � -.' ·�· · _ 
(A) $M11Cll9 'if 
(C) �Jl9'11f' 'if 

(B) �·if 
(D) ���'if 

Maximum diurnal range oftemperature is 
found in district of Rajasthan. 

(A) Jodhpur 
(C) Churu 

(B) Sri Ganganagar 

(D) Jaisalmer 

� t __ fum -q wrn � m 
d I q H't ( 'llTm 'll1mT � I 
(A) \Ill� 
(C)� 

(B) -311 li<ll"lll < 
(D) �ti(Tl�( 

39] + 
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78 

79 

80 
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Gurushikhar mountain peak is part of 
which of following Aravali Region ? 
(A) Southern (B) Northern 
(C) Middle (D) Eastern 
�nsf{ 1:JCfu mil � t � ��T col 'lfllT 
� ? 
(A)� 
(C) t:rUT 

(B) \fflft 
(D)� 

'Chhappan Plain' is associated with which 
one of the following river ? 
(A) Beas (B) Sabarmati 
(C) Mahi (D) Chambal 
't§IXR �� COT �..tJ � 'if � fuffi � � 

� � ? 
(A) Gl:ffif 

(C)� 
(B) B I� {'"lcll 
(D)� 

Which of the following district of 
Rajasthan receives maximum annual 
rainfall ? 
(A) Kota (B) Sirohi 
(C) Bikaner (D) Pratapgarh 
�-q� � fuffiq;)�'if� 
cnfTtco crtU � mal � ? 
(A) com (B) fu-mt 

(D) !Oidl4ll(!> 

Which of following district of Rajasthan 
is facing problems related to Air-pollution 
because of sugar mill plant ? 

(A) Sri Ganganagar 
(B) Bikaner 
(C) Bharatpur 
(D) Dhaulpur 
� 'if � � cor �-m � � 
flffi � t �.Cff9: � ctT � � � 
m� ? ·  
(A) -311 ljlll'1ll < 
(C) 'lffi!Y 

(B) tSllfhl�< 
(D)� 

[P.T.O. 



81 Brown colour of the apple after cutting is 84 
a which type of change ? 
(A) Physical change 
(B) Chemical change 
(C) Biological change 
(D) No change 
� c6r � 1R � h" � % � m \jf["ffi 
t � � 1JCfiiT q)f qf{qJ� �? . 

(A) � qf1:Cid'1 
(B) U{"ll!lf.:i!:b qf1:Cld'1 
(C) � qf1:Cld'1 
(D) � qf1:Cid'1 � 

82 Which of the following compound/s is/are 
sublime? 

83 

(i) 12 
(ii) NH4Cl 
(iii) Dry Ice 
(iv) Naphthalene 
(A) Only (ii) and (iv) 
(B) Only (i), (ii) and (iv) 
(C) Only (iv) 
(D) (i), (ii), (iii) and (iv) 
f.l"'iiftfu!ct it���� q)f ij� 
fcn<:rr \iff � � ? 
(i) 12 (�) 
(ii) NH4Cl 
(iii)�� 
(iv)� 
(A) � (ii) \3fr{ (iv) � CfiT 

(B) � (i), (ii) \3fr{ (iv) <frfTTcn CfiT 
(C) � (iv) � CfiT 
(D) (i), (ii), (iii) \3fr{ (iv) � CfiT 

How many districts in Rajasthan are 
declared ODF (Open Defecation Free)? 
mw.lR il> fcmR � � (� it �fm 
�)mm��%'? 
(A) 27 (B) 28 
(C) 32 (D) 33 

39] + 
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Which of the following/s is the function 
of collector as the law and order officer ? 

(1) Control over police 
(2) To see the treasures of the district 
(3) Examining the foreign passports 
(4) To collect land revenue 
Choose the correct code :-

(A) (1), (2), (3) and (4) 
(B)- (1), (2) and (3) 
(C):r(l) and (2) 
(D)_-(1) and· (3) 
�it� cnT-f � cwl �06'ii<Oll:b il> Wl it Cb&lctG{ 
it�� ? 
( 1) ·_ -� 1R R<:i?fUT n?FIT I 

(2)' � il> coliSII(ip)j CfiT BU� � I 

(3) �-rm il> �-em � � 1 

(4) 'l-��� I 

-eir.' arrr � : 
(A)'(l), (2), (3) cr (4) 
(B) {I), (2) cr (3) 
(C) (1) cr (2) 
(D):::(-1) cr (3) 

The salary and allowances of the 
Chief-Minister are determined by which 
one of the following ? 

(A) ·Mentioned in III schedule of the 
· ··Constitution 

(B) Parliament 
(C) Governor 
(D) State legislature 
�Mthll il> ircR \3fr{ � � it � � &TIT 

�mfuf � \lfffi %' ? 
(A) �cmcmm� 
(B)� 
(C) (1\RNI('I 

(D)� fcl"� 

[P.T.O. 
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89 
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The eye defect in which the image of the 91 
distant object is formed in front of the 
retina is 
(A) hypermetropia (B) myopia 
(C) presbyopia (D) astigmatism 
Cffl" � � � q;rrar � � � q;r llRl�� 
1!�420(11 t � � �. Cf)(\(111{11 � -
(A) � � � (B) f.irg � � 
(C) \l1 <I{<�� � (D) i!���JOq 

If the total resistance in a circuit is halved 92 
keeping the potential difference across it 
constant, then the current in the circuit 
will become 
(A) one fourth (B) four times 
(C) half (D) double 
c:rta: M l:fft:q� -q � � � � � 
� q;r 11A am:rr q){ � \i'lTQ; m l:fft:q� -q 
mcmftmnm� 
(A) � �� (B) mr :fiT 
(C) awft (D) � . 

Which of the following is not a product 
of fermentation ? 
(A) Lactic acid (B) Ethanol 
(C) Acetic acid (D) SulphQric acid 
fiik1RYI fula -rt � eGA � imTG: � � ? 

(A) �� (B) �� 
(C) Q�"lf?:Cfl � (D) t�#t!!"<Cfl � 

A patent is granted for years . 
�m -crm t � �%m 
\jf(ffi � I 
(A) 10 
(C) 25 

(B) 20 
(D) 50 

The gene present on Y chromosome that 
codes for the protein regulating sexual 
differentiation in humans is : 
� -rt 'Y' � "tft � � � Wffl � 
-q � IDtR q;l- � ctmfT � : 

(A) YRS gene 
(C) SRY gene 

(B) RSY gene. 
(D) SYR gene - -

93 

94 
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Who implements the MNREGA 
programme? 
(A) Collector 
(B) Panchayat Samiti 
(C) Zila Parishad 
(D) Gram Panchayat 
� Cfll4s:t>'i q;r Rb£tt«:t'1 � mu M 
\ifTffi � ? 
(A) ft:rffi<cfr�T 
(C) ftwrr � 

(B)��­
(D) m'i" � 

Rajasthan State Commission for Women 
IS : 

(A) Statutory Body 
(B) Constitutional Body 
(C) Regulatory Body 
(D) Created 'by ordinance 
�����­
(A) �� 
(B) �4�� 
(C) f.NI'icCt£1 � 
(D) <3l&IT��T IDU � TttiT � 

The Governor is appointed by which one 
of the following authority under 
Article 155 of Constitution ? 
(A) Union Council of Minister 
(B) President of India 
(C) Prime Minister of India 
(D) Chief Minister of the State 
m't.Wf t � tss t � ,.,.<l:-;;r'Ti0l.,.,41=(11 ctr 
� � -q � � &rn ctT ii1Rfr � ? 
(A) ��� 

. 

(B) 'I1"TTif i6 U�S?.;4Rt 
(C) 'I1"TTif t �� 
(D) � t t1)<9Qll::fi 
Who was -the first longest serving 
Chief Justice of Rajasthan State 
High Court? 
(A) Sarat Kumar Ghosh 
(B) Kailash Nath Wanchoo 
(C) Sarju Prasad 
(D) J. M. Panchal 
��-q���crq;�m 
�����T��? 
(A) �mr � 'Q)q (B) �m on�� 
(C) .�� (D) �. �. -qtqrn 

[P.T.O. 
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Who was the first Lokayukta of Rajasthan? 
(A) Shri I. D. Dua 
(B) Shri K. P. U. Menon 
(C) Shri Milap Chandra Jain 
(D) Shri Rangnath Mishra 

� � �� tri'tCb19)CRI � � � 
lf4 � ? 
(A) sir �. il. �\m 
(B) sir �. lfr. -g. ffi 
(C) sir�.�� 
(D) sir i<Rr� ff:J-91' 

Which one of the following is the smallest 
unit of administrative in Rajasthan ? 
(A) District 
(B) Division 
(C) Tahsil 
(D) Panchayat Samiti 

� -q ��Trof.rcn � � � -q ��mil 
�� mt ? 

(A) fm;rr 
(B) ti'lfrl 
(C) �ijffi 
(D) � � 

97 . Who is the chairman of the committee, 
which appoints chairman and members of 
Rajasthan State Human Rights Commission ? 
(A) Speaker of State legislative assembly 

98 

99 

What are the correct qualifications for the 
appointment as Governor ? 
(I) He should not hold any other office 

of profit. 
(II) He should have completed the age of 

30 years. 
(III) He should not be the member of 

Parliament and State Legislature. 
Select the correct code : 
(A) (I), (II) (B) (I), (II), (III) 
(C) (I) and (III) (D) (II) and (III) 

·- o�41t'l -qc:: -crt � m � fWl � 
<it H04dll{ 'CP04T � ? 

(I) �. fcoBT "ffi'l � -qc:: -crt � "£ m I >., 

(II) � 30 � � \ill9) �CO{� m I 
(III)�� fcf�l14str� i3fiT � CfiT � 

-.:rm1 
�we.�: 
(f\) (I); (II) (B) (I), (II), (III) 
(C) (I) � (III) (D) (II) r;ei (III) 

Who amortg the following is not a 
Rajya Sabha Member from Rajasthan ? 
(A) Dr. Kirodilal 
(B) Shri Madanlal Saini 
(C) Shri Bhupendra Yadav 
(D) Shri Arjun Ram Meghwal 
f.ik1Rr!Rsla -q � � � � � qrr 
�'ltlt? 
(A) 61. fcb("l9"1tr�lt'l 
(B) sir "1�1t'llt'l � 
(C)��� 
(D) ��Wf� 

(B) Leader of opposition 100 Who presides over the meeting of 
Municipal Corporation ? ' (C) Chief Minister 

(D) Govemor 

��11RCf����!ff� 
� � � � � TJfucr � CfiT �Iff 
q,� mn- %" ? 
(A) fcf� <3l&l'!ff 

(B) � llfuq� 
(c) !!&l tj ?TI 

, (D) {llfq41t'l 

39] + 15 

(A) Mayor 
(B) Speaker 
(C) Municipal Commissioner 
(D) District Megistrate 
';fliT Wrf � trrrr cCr �� � CfiTclT t ? 
(A)� 

.(B)� 
(C) "fllT -3lTpffi 
(D) fm;rr 'i fuH{ i! 

[P.T.O. 


